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(PAPER — 2) (Maths & Science) HINDI

The aspect that shows the naturally occurring qualitative and
quantitative changes in the hereditary characteristics of an
individual is

1. Growth

2. Innate ability

3. Learning

4, Maturation

iad & 3TAID FARIUTRN H Agel wd A gl aret
aR#ATIeAS 3R JUNcAs uRadel Hi JRIT Hearer
3i9r &-

1. delad

2. SieHGIId giHAdn
3. 3iftpE

4. gRudan



Main aspect of Chomsky’s theory

1.

Language development depends on intellectual
development

2. Children have an innate universal grammar
Language development depends on the reinforcements
received by the child

4. Children acquire language by observing parents and
others

dleAD! & Rigeia &1 I Uh J3AA 3 -

1. 19T & e JIgHIe et ur smenfa 3 |

2. Tl & URA STeHsld 3T ABRE &rseor
glar g |

3. 9T & farA, a<dl &l 9 gdcteli U
e gl

4. I 31Uel AT U 3T IRl & aciide

Pl A AT Bl U B |

Ravi is able to recite the Mathematical tables and poems that
he had learnt in his childhood without mistakes. His memory

1S

1.

2
3.
4

Immediate Memory
Long term Memory
Logical Memory
Active Memory

I 31Uet IAUS & AHH U 3id anctp1ail (Sac)
3R uen &t 31t oft farer orerd) & adar Ahar § |

3AD AT B -

1.
2.
3.
4.

dchldt FJid
AN T
arfbes Zfa

AfhT A



A child gets two Chocolates once in every week for his

performance in the class. This type of reinforcement schedule
is called as

1.

2
3.
4

Fixed interval
Fixed ratio
Variable ratio

Continuous

U B3 Bl & Ke aiet ueofa & e &2 s A

&l dicbele UTel A Ig Tdctel ol & -
1 ferfdera sia=Ter vacter e

2. Tofdaareuma gaee fo=ra

3. RN uade foraH

4. R vae= s

Find out the wrong statement with regard to learning

1.

2
3.
4

Learning leads to changes in behaviour
Learning is purposeful and goal oriented
Learning starts with birth and proceeds up to death

Behavioural changes occur through learning are
temporary

IRPTH & Ady H Tg HAT 3T § -

1.
2.
3.

3R FJagR A uRade arar 3 |
31T 35T Afga § 3R cgamenRa 3 |
3P STed A TR Fl B2 AZS ddb SRl

Tl g |
3RPTH & @RI aet agiRe gRade
dTcepiieies 3|



The aspiration to achieve greatness will make the person to

achieve that greatness. This is called

1.

2
3.
4

Achievement Motivation
Intrinsic Motivation
Aspirational Motivation

Extrinsic Motivation

“Tep At A ufaseT urel B S 3MTepial gldt g, agl
3MTpiaTT 3 Ufdsar &t Uifitd &l AB Telret g 17’ A

U Pad 8-

1

2
3.
4

wrRIRER S
3idRe® S3om
31piat gut SRom
g SR

When a previously learnt task affects the retention of the task

being currently acquired is called as

1.

2
3.
4

Retro active inhibition
Pro active inhibition
Retroactive effect

Proactive effect

“Rroat siftpmA, adame st Rt & ger: =R
H T YT BT’ TG IR B -

1

2
3.
4

gyl / fa=Rona! 3reRie
3ATHT | QRIOTHE 3TaRie
uegedl / faRomat wa
3IATBA | GROTH Bt



The main aim of Evaluation according to NCF-2005

1.
2.
3.

To assess the teaching learning process.
To measure the scholastic progress of the student.

To measure the achievements of teacher and students
in teaching learning process.

To assess the processing of co-curricular activities in a
school.

NCF-2005 & 3[R Fcidhel BT T 353 3 -

1.
2.
3.

fareror 31féoTad ultha &t 3B B |

B & 19181 el oIt BT HATUS B2er |

foreror 31fEora ulthar & 3reamus 31 BEl &l
3Ucifeel &1 A e |

UTSMeT H il arell AGUIGIhA IATAferdt &l
3GTSTT SorTe |

Teacher acquainting the students who have passed 10" class
regarding the availability of courses according to their
interests and abilities - is known as

1.
2.
3.
4.

Vocational Guidance
Personal Guidance
Educational Guidance

Group Guidance

31eTTP &b garRl, 10 wamm A 30T BT B I
3M3rStT Ud Piel & 31HU UGS Ud IUeTed BiAt

$ aR A adre B 0A Ped o -
1.  aae ke

2. Aferaora fadera

3. AR ferdee

4.  ARES ko=



10.

11.

Individual differences in intelligence are due to

1.

2
3.
4

Environmental factors only
Hereditary factors only
Hereditary and Economic factors

Hereditary and Environmental factors

qef A dufdas Al BT BRI TG B -

1

2
3.
4

bact ufeder & BRI

BT ITAIIb BROT
3refdfers 3R 3nffes wror
31edirep 3T ufedeiter s

Psychological aspect that affects learning is

1.

2
3.
4

Level of aspiration
Gender difference
Maturation

Physical health

31fePTeT @I TaIfIa B aretT ATelidsiiieldd 391 § -

1

2
3.
4

31THIST BT T
ferorate
U
MRIR® e



12.

13.

Find out the wrong pair from the following
1. Bruner — Theory of instruction

2 Vygotsky — Instrumental learning

3. Carl Rogers — Experiential learning
4

Maslow — Hierarchy of needs

fereet A A oTeTd S 1 ygaIelw

1. gER - it Rageid

2. ATl - Afdfas siftera (sxgdea afedor)
3. et SR - STIHATHDB 3P

4. AR - TATBAISN BT UGTIHH

The leadership style of a teacher who motivates the children
by giving importance to their ideas and feelings and allowing
them to participate in the school programmes along with him
1s,

1. Permissive leadership

2 Authoritarian leadership

3. Participatory leadership

4 Laissezfaire leadership

Tl & [aRI g HAdoTl &Y gererar ad §U 304 S30M
UgT A gU 31U ARI-ATRI UISAET F BrIhaA! A

3T A & foiw 9Ra wa aret s1eaUs 3t Aga
Al B -

1.  3igHIGH Agd

2. R Aga

3. WAGHWON dAged

4. FIAY IgA Agd



14.

15.

A person after reaching college repeatedly thinks whether he
has switched off the gas stove or not, whether he has locked
the house or not. This disorder is

1. Psycho neurosis

2 Neurasthenia

3. Common anxiety

4 Obsessive compulsive neurosis

Plciol 37 & g MY, 88 A g Il dg fpam 3
fp o18l, o= H daren S TR 76 g ... A G
IR-AR A It STeRd Bl ATARID JIARI 3§ -

1. e fafifa
2. oAl @t gderan
3.  ATLUROT 34
4. 3ATAT HufcAd =RIA

Suresh is unable to read and cannot understand what others
read. His learning disability is

1. Dysgraphia
2 Dyslexia

3. Dyscalculia
4 Dysphasia

J390 3 A Ug gl Abdl 3R IR A Sl UeT I=,
3A JAH TG AT | SHABD! 1P RIbetar 8 -

jit

1.
2.
3.
4.



16.

17.

One of the following is not related to psychomotor domain
1. Imitation
Naturalization

2
3. Evaluation
4

Manipulation
forear & 3 FeSRO & A HAldd B -
1. 3TF®H
2. TATHTAIBROT
3.  FHcHihel
4.  gaTSh

Development is high in Infancy and low in Childhood and it
becomes high again when the child reaches Adolescence. The
developmental principle involved here is

1. Development is not uniform in all stages

2 There are individual differences in development
3. Development is continuous

4 Development is a process of interaction

fpr, Aoz & delt A, IcERRN A FHe, B A
PIARE A dolt A gia A Jg faprAfer 3 -

1 faeprar Faft gom3it & v ST <1 ) giar |

2. faera # Jafas AT g § |

3. [ ve srfafss ufseen B |

4. TIpRT U uRzTRe =i B |



18.

19.

Cognitive development is also called as
1. Social development

2 Emotional development

3. Moral development
4

Mental development

1.  AHANSIS et
2. Haon &T T
3. afas faem
4.  Helfage™

Minimum number of instructional hours specified for classes
6" to 8" in an academic year according to RTE Act — 2009

T21e1r 31TBR Bl - 2009 & AR 6 A § dB &
w3l & v ves s adf # Frdfera =garaa Riarmor
3rafyr (det #) B -

1. 1000

2. 800
3. 1200
4. 900



20.

21.

The learning in which, the teacher makes students learn by
themselves by putting problems and questions before them to
provoke thoughts and allow brainstorming is,

1. Problem solving learning
2. Social learning
3. Inquiry based learning

4. Instrumental learning

31EATUPH, BN &b 3PN AFIAT3N T U=l Bl TH B2
3eidh AT @1 3afold HRd gu faaR FHee wear &=
T 3w arell siftere faftr @5 3 -

1. TR g 3P

2.  JAMHATSIS 3R

3. 3uIcH® 3RPTH

4. Statas siftpE (sRgdca afdfo)

The method in which information is obtained from the same
person selected for study is,

1. Longitudinal method
2. Experimental method
3. Observation method

4. Introspection method

gH fora aafera &1 s1eare dee aiga 3, 3 Afer

A JAARR AGT Bt &bt fafer 3 -
1. 3rgew fafy

2. =T At

3.  3@adi®wd fafér

4.  3TcAfeRIer fafé



22.

23.

According to L.M. Terman intelligence is

1.

Ability to change his behaviour towards the
achievement of goal

2. Abstract thinking ability

3 Ability to adapt to physical and social environment
Person’s innate ability to develop interpersonal
relations

US1.UA.SHA & AR q5fT BT 31ef 3 -

1. o2 AT Pt 3R 3T FagR Pl dacd Abel
BT DI |

2. 3Yd RaR & Piere |

3.  difces vd ATATiorh uRdell & 3y ael o &I
HrerE|

4.  URAURS Al BTGB B Abel Bl
3icota o |

Shyam doesn’t like to participate in family gathering but at

the same time he doesn’t want to disappoint his mother. The
conflict here is

1.

2
3.
4

Avoidance - Avoidance
Approach - Approach
Approach - Avoidance

Dual approach - Avoidance

9TH I 31Ul TRl AARIG A AP AT U gl
3 37T 319el AT B ISR T ot =15l g |

1. uRgR - aRar
2. 3URIH - 3UPH
3. 3URH - uRgR
4. g 3UnE - URER



24.

25.

Physiological trait that affects person’s personality

1.

2
3.
4

Skin colour
Health
Blood pressure

Hair colour

St & SAferdcd Bt AT Baarel mRIRG forafor

BT S3T0T B -
1 T T 3907
2. TR
3. &A™
4. Pl B I

According to Kohlberg the reason for moral behaviour of the

child during the stage of conventional morality

1.

2
3.
4

To avoid punishment from the parents
Gaining acceptance and getting rewards from others
Gaining acceptance and avoiding censure by others

By self accepted principles

HIgeTIdl F AR URURG Afawsar A Hdftra arers

& cifcis FAGR B BRUT g -

1. e far & &8 A ager |

2.  GERI A g TR YIEBR T |

3. @RI & 3rgHAlGe Ul 3R f¥dR A Ige |
4, T Fpd fo=re |



26.

27.

The learners who learn lessons easily by acting and

performing art are called

1.
2.
3.
4.

Bodily Kinaesthetic learners
Visual learners
Auditory learners

Oral learners

3t 37T vgefd & qarT utewiel &t AT A
et aret fremeff 3 -

1.
2.
3.
4.

iR, oifg Fdgs Riameft (ardich Fazafes)
god fRrameff

srqor fdramelf
FAiRas frameft

According to Piaget changes occur in Schemata due to

1.

2
3.
4

Assimilation and Accommodation
Accommodation and Equilibration
Adaptation and Equilibration

Adaptation and Organisation

st & 3R FHieET # uRade 3me & HRUT F -

1.
2.
3.
4.

ool 3R AATAIGT
AAIISTS 3R AGere
3T FHeTel TR Agera

31e[GeTel 3R TaATId



28.

29.

Latha’s knowledge about music doesn’t help her to drive a

car, the transfer of learning here is

1.

2
3.
4

Positive transfer
Zero transfer
Bilateral transfer

Negative transfer

odT BT IoNd A Fel, 3AD HR TcAlel H U
gidt A uIg 31RPTA 3idRor 3 |

1

2
3.
4

3TelReT 3{c=ul
QAR
grauifddes siaRor

APBRIHD 3307

Physical factor that affects the development of a person is

1.

2
3.
4

Environment he grows
His relatives
Media

Religious rituals

Sferad & fIprRT uR 3R Ema aren iifas aa 3 -

1

2
3.
4

3% UeTel BT URALn
3Adb Reder

Az (FreTa)
enfdep AR



30.

The temporary support that parents provide to a child for a
task until the child can do it on his own is termed as

1. Co-operative learning

2 Zone of proximal development
3. Collaborative learning

4 Scaffolding

gl 37U 31T BIH B3 A9 deld db 3B AT
ftrar drepifetes T A AGRIAT B2 B OA Bad B -

1.  AghR e
2. ferpeadt e &=
3. HPNERI 3RP™H

4.  TpBicsar (FTTe)



31.

32.

33.

oA e e &1 fabed 3 -
1. 3fmer

2. Hegel

3. el

4. TSI



34.

35.

36.

37.

foreet ol A A dcHAd 9lg UgAItelv -

FBTHT T ... agd argd & | Raa e @t

gfd g1 Rsifra sRe J gt -
1. hdl BPRbB

2. 31UET BREb

3. ®H PRb

4, TYSH BRDB

1. SoTdg

2. Qg® Fed I

3. WRdg ghRedes
4.

STk THAIS

31TST Uil T S1H 9gd a6 IR0 g | IAlihd o0



38.

39.

40.

41.

31t Humr 3R FS9T - A foret A T o &
gfeart g ?

WBIdsST
g
EaEll
dcidiR

H w N

G, 3G B 39T WX AEd A’ | TH areT A

RIa @R BT Al 31ef B -
1. feft @ o Qe
2. Tt & 3R UR TcTel
3. 13731 &Y 3RT BRel
4. BHAR BAR U TcTell

“gHA JTEl J3N - TG A TBR Bl qET g ?

faermemeles ara
yoarRl® dare
feTrnels aa

31Tl Ty

B w N



42.

43.

44.

45.

“Tant”’ - fher g el A qEAT G ?

T + RN
A + RN
TG + RN
Td + SR

R

“Hg A TRl IR T’ A cllplied BI 31ef
Ugdelv |
10)

Q qa

REEIG
urell g

W N

“‘qg YD UG YBI - TH 9T H TH TBR Bl
Figerd foparm & -

1. 3IRH dled

2. JHANG Jlerb

3. faaerar aiers

4. 37BN AErD

g ?

1. ar A wiaar ferai o1 Aebd! 8 |
2. a1 A Bierar fersht Srat o |

3. Har A faar o= smeett |

4. Jdar A wiaar ferzht ol of |



46.

47.

48.

49.

“CRA P g ? - I A A YBR BT AdelH 3 |

“IH IH foTell TAB [ IR A GIT P |7
A UfeRd # Ugad 3cibR UgdIelv |

1. RRIEMTHATEDRR

2. SUHATADBR

3. 3IUTATCIBR

-

“FrgrTen forfa FAge =wh & | IFifea o=
&1 A faea o e |

caf

G
31N

ATl

H w N oe

IMUTA SATST AeAdT g | IFThd g A UBR
1 fepa fagioor 3 -

TRITel g fopar fagiwor
URATT arae T fagieor
B arges feha fagieor
Al araes feear faetor

W N oRe



50.

51

52.

53.

foreet & A Jg T BT T@rRHE B -

1191

Bedl Bl & ‘IgATe’ UTS & 3TJAR 3gATS & did
AT -

1.
2.
3.
4.

‘STATILATA’ UTS & 3TFAR ABAT FoTA THeTa
3 -

!
il
-
]

3MTedl 21T BT ‘FH Fiol BIFATE’ A I BT UTe

g -

A W N B



54.

55.

56.

‘IS IS 9T UTS H IS &I o1 H I3 3 -

R Rig
s Rig
dik Rig
foear Rig

Powon e

et U’ UTS & ITFAR TS DI 310l UGl HIeA &b
feTu = oTps) &1 3uET Bed B |

S Pl B
3N & B
IWIE DI cABst
oo rc ) B o) |

W N e

‘TIRTST & fla’ Ul P 31AR el A+ arg o
et A 3 -

1. &dr1, dic
2. Aar, oshan
3. @I, HeR
4. Sgt, dom



57.

58.

Hiyaier UgdR U2s BT IR UgdIe |

3ruett FrFeEf A gen
digr 3o1d - Jord
34 AR &
oo 1 2d 8 - “Biaar 11
1. dF e A
< g A
3H dgel A
TR & BRI

P W N

Hiydier UgdR U2s BT IR UgaIferC |
3ruett FrFef A gen
9T 3o1d - 3o1d
34 AR &
oo 1 2 B - Biaar 11
AR & oA BT T8 B -
1. gfetan
2.
3. gigsar
4. QI



59.

60.

I UGHR M2 BT AR UgHIere |

I faer ama I B & ag ve SIget femeh
gsl | 91feTaR Igd Fer g3 | Jiferar i 3marst Hi
SIgTSt & BHAAR! o Ja feran | ofetar & AgreIar H2d
STgTsl & ugan e | orfeter 3m0at o & gual W
fereeiige Troa & 31uet il @t aar f&=m |

JTfeteaR @1 3maret foeer Jerr ?

HuE

feTeeiige o
STgTST o
pHMT o

W N e

I UGHR M2 BT AR UgHIeIe |

1 faer ama I wRA & ag UP Siget e
gsT | JIfciaR Igd [T §31 | JMfetdR Bt 37ars] Bl
SIgTST & HHARY JFet feren | oferar @t wgrrar s
STgTsl & ugan e | orfeter 30t o & gual W
feTeetige Ir5g & 3uat 3regarat ol gar fa= |

difeteaR 3o BHTIRAT &I B & IR A adr=n ?

SIgIST & AR A
APR & ar A

feTeeiige 3 & AR #
g A0 & AR H

W N oe



61.

62.

63.

She became ‘flabby’ due to lack of physical activity.

‘Flabby’ in the above sentence means;

1.

2
3.
4

lacking vitality
sad or gloomy
depressed

persuasive and convincing

He became the pioneer of India’s software industry.

The word, ‘pioneer’ in the above sentence means;

1.

a person who is the first to develop a particular area of
knowledge.

a person who lost his life for knowledge.

a person who got a job in software industry.

a person who bought software from a company.

Choose the word that does not have a suffix.

Lol A

conduct
official
proposal

identification



64.

65.

66.

67.

Choose the word with correct spelling.

Ll

Vorocious
Varocious
Voracious

Varacious

Words having the same spelling but different meaning are

called;

1.

2
3.
4

homophones
homonyms
hypernyms
hyponyms

Light changes its nature when passed through a transparent
medium.

Choose the antonym of the word ‘transparent’.

1.

2
3.
4

positive
bright
opaque

unnatural

Choose the phrasal verb that means ‘ manage to understand.’

Lol

Bring down
Make out
Bring out

Broke down



“The Hindu” can be obtained in many big cities in India.

The purpose of using ‘can’ in this sentence is to express;

1. position

2 ability

3. permission
4 possibility

Choose the correct sentence with respect to the use of articles.

1. Tables are made of wood.

2. The tables are the made of wood.
3. The tables are made of the wood.
4. Tables are made of the wood.

He deals ............... many business people.

Choose the correct preposition that fits the blank.

1. in
2 on
3. with
4 over

Napoleon, who won the French honour, died at St. Helena.

This sentence has;

1. a defining relative clause

2 a non defining relative clause
3. a noun clause

4 a conditional clause



72.

73.

74.

75.

Choose the informal expression among the following.

1. Tell me where the market is.

2. Please show me the market.

3. Will you please help me in finding the market?
4. Can you please help me in finding the market ?

He comes every Friday.

Choose the correct question tag for this sentence.

1. isn’t he ?

2 does he ?

3. doesn’t he ?
4 is he ?

Choose the sentence that ends with a full stop

1. I know who you are
2. How good you are
3. Who are you

4. How are you

“Shyam has eaten my chocolate,” says Arun.

Choose the reported speech of the sentence above.

l. Shyam says that Arun has eaten my chocolate.

2 Shyam told Arun that he has eaten my chocolate.
3. Arun told Shyam that he has eaten my chocolate.
4 Arun says that Shyam has eaten his chocolate.



76.

77.

78.

79.

Plenty of water ......... available here round the year.

Choose the correct verb form to fill in the blank.

1. 1S

2 are

3. were

4 have

The child ......... by a dog last week.

Choose the correct tense form that fits the blank.

1.

2
3.
4

has chased
1s chased
was chased

had chased

Choose the verb form from the following.

1.

2
3.
4

organise
tidy
SIX

com

Choose the linker that can be used to indicate contrast.

Lol

Yet
Hence
All the same

Likewise



80.

81.

82.

83.

He was tired. He lay down on the sofa.

The two sentences can be combined as:

1.

2
3.
4

Choose the grammatically correct sentence from the

Neither he was tired nor he lay down on the sofa.
Being tired, he lay down on the sofa.
He lay down on the road so that he was tired.

Although he was tired, he lay down on the sofa.

following.

1.

2
3.
4

Vikram prefers coffee for tea.
Vikram prefers coffee with tea.
Vikram prefers coffee to tea.

Vikram prefers coffee by tea.

Has a snake ever coiled itself round any part of your body

This sentence ends with;

1.

2
3.
4

a full stop
a question mark
a comma

an exclamatory mark

Choose the word that should begin with a capital letter.

[E—

american
poetry
news

week



&4.

85.

86.

87.

He has taught us grammar.

The passive voice of this sentence is;

1. Grammar has taught us by him.

2 Grammar was taught to us by him.

3. Grammar has been taught to us by him.

4 We have taught grammar by him.

No other river in the world is .............. the Nile.

Choose the expression that fits the blank.

1.

2
3.
4

the longest
longer than
long

so long as

You address the receiver of a personal letter as;

Lol o

Choose the list of words in the correct alphabetical order.

Ll

Hello Sir
Dear Mr.
My dear

Dear Sir

do, does, did, done
do, did, done, does
did, do, does, done
did, does, done, do



88.

&9.

Tourists from various parts of the state travel through
Kurnool.

Choose the synonym of the word ‘various’.

1. some
2 all

3. many
4 any

Read the following passage and choose the correct
answer to the question.

Shivaji once attacked the city of Surat, which was under the
Mughals then. The Englishmen who lived in Surat ran away
for safety. Though they escaped, their belongings were taken
away by the soldiers of Shivaji to Raigarh, the capital of
Shivaji’s kingdom.

The Englishmen ran away because.

1. They wanted to save their belongings.
2. They wanted to attack Raigarh.

3. They wanted to save their lives.

4. They wanted to meet Shivaji.



90.

Read the following passage and choose the correct
answer to the question.

Shivaji once attacked the city of Surat, which was under the
Mughals then. The Englishmen who lived in Surat ran away
for safety. Though they escaped, their belongings were taken
away by the soldiers of Shivaji to Raigarh, the capital of
Shivaji’s kingdom.

Choose the true statement from the following.

1. Shivaji belonged to Surat.

2. Shivaji attacked Raigarh.

3. The Englishmen attacked Shivaji.

4. Raigarh was the capital of Shivaji’s kingdom.



91.  The value of 10g25 s
125

log 2 AT B -
125 = 8
l. 5
2. 3
. 2

2
4 2

3

92.  Sum of two rational numbers is (—8). If one of the rational

numbers is (77) then the other is

&t uRRFAw Jz=nsht & AT (-8) § | A A UH
-17

SPLEELEE

Lol
9
2 6t
9
3 —9§
9
4 -6t



93.

94.

95.

If A, B are disjoint sets, n(A) =5, n(B) = 3 then n(AUB) is

A 3T B 3R AFEA 3 n(A)=5,n(B)=3g al
n(AUB) =

1.

S W W»n X©

2
3.
4

Number of two digit numbers divisible by 8 is

‘¢’ A fereoly wu A f[qaTsT ) 3ipl B FHT B -

1 9

2. 10
3. 11
4. 12

If the two zeroes of 7x* — 15x — K are reciprocal to each other

then the value of ‘K’ is

73’ — 15x — K 9gUe & YeTd TP gAR Bl b g dl

l. 7

2. =7

., 2
7



96.

97.

98.

Cube root of 13824 is
13824 &I Tl A o -

1. 44
2. 34
3. 28
4. 24

First and last terms of an Arithmetic Progression are 10 and
50. Sum of terms of this Arithmetic Progression is 480 then
the number of terms in this Arithmetic Progression is

37 A & uget 37 3ifaa ug HHA: 10 3R 50 B |
3T At & UST BT AT 480 Bl 3T A A Ul B
TFT F -

1. 8

2 10

3. 16

4 20

If x = V52 then the value of x+l is
J5+2 X

x = ﬁ;i ga x+% B AT B -

1. 18

2. 14

3. 845

4. 245



99.

100.

A 5 mts. 60 cm. high vertical pole casts a shadow of 3 mits.
20 cm. long and at the same time the length of the shadow
cast by another pole of 10 mts. 50 cm. high is (in mts.)

5 ez 60 A.F. B HaSdIA FR B BRI B TS
3 #Hlez 20 A.F. B, 3N FFT A 37T TP 10 Hlez

50 A3 .@ SHaTSarel TR B BT B cars (Hied H)
2 -

1. 18.375
2 8.64
3. 8.1

4 6

A shop keeper buys 80 articles for Rs.2400 and sells them for
a profit of 16% then the selling price of one article is (in Rs.)

UP GHIEGR 80 aG3il Bl 2400 S & Faa A
BRIGHT 16% ¢T3 A ITB! dqd A UH-Uh ag Bl

fapar afewr (Susit #) B -
1. 30.60
2 34.80
3. 35.40
4 46.20



101. Five coins are tossed at a time and then the number of

possible outcomes is,

U A8t Bl Uh AT HUR b A 3T AT AHTH

1. 64
2 32
3. 16
4 8

102. If P(A) denotes the probability of an event A, then

‘A’ SITHS TTelT AHTHAT Bl P(A) & Hd H IJfaa fos=m

S -

1. P(A)<O0

2. P(A)>1

3. 0<PA)<I
4, —1<PA)<1



103.

104.

The time in seconds taken by 150 athletes to run a 110 mts.

running race are tabulated below :

150 Terelie 110 #lex I Sis ufa=nimar & o™ Ja

APl A forea arferer A ezmm s 3 |
Class
a_o.f 13.8-14 | 14-14.2 | 14.2-14.4 | 14.4-14.6 | 14.6-14.8 | 14.8-15
Freﬂq‘%quency 2 4 5 71 48 20
3

The number of athletes who completed the race in less than

14.6 seconds is

14.6 APBSI A A AFT A qis Bl 3 fbd weredier ot

JF F -
1. 11
2 71
3. 82
4 130

The range of the data 14, 6, 12, 17, 21, 10, 4, 3 is

14,6, 12,17, 21, 10, 4,3 & gdiel &1 TAR-3 (IST 316

g S1a1)

1. 11
2 17
3. 18
4 21




105.

106.

If Sin 0 = z—g then the value of sec O + tan O is

Sin 6 = z—g %Fﬁsec@ﬂan@ﬂﬂﬁ@%-

21
49
49
21
41
29
29
41

Two men are on either side of a temple of 30 mts. high
observe its top at the angles of elevation as 30° and 60°
respectively, then the distance between the two men is (in

mts.)

30 ez B Ha1S g AR S HUI HIT B IAB
gel 31T A & &fth 30° 31T 60° & I BT A
ferdieror {52, ot 391 S el & dg 3t G
(Fie=t #) B -

1. 2043
2. 40
3. 4043

4. 603



107.

108.

109.

The points D, E and F are the mid points of the sides of
AABC. If the perimeter of AABC is 16cm, then the perimeter
of ADEF is (in cms)

D, E 3IR F fig AABC o3l & #He foig 3, AABC
BT 83 16 A.FI. § df ADEF &I 91 3 (J.F. H) -

l. 32
2 8
3. 4
4 2

ABCD is a cyclic quadrilateral. If £4 — ZC = 20° then
ZC is

ABCD U% T agHal 8 44 — £C =20° g & £C
3 -

l. 120°
2. 80°
3. 70°
4. 40°

The angle which makes a linear pair with an angle of 61° is
61° PIUT A IBNT JoA FeATeiaTedT DIV 3 -

1. 29°
2 61°

3. 119°
4 122°



110. Two sides of a triangle are of lengths 5 cm and 1.5cm, then

111.

the length of the third side of the triangle cannot be

1.

2
3.
4

34 cm
3.6 cm
3.8 cm

4.1 cm

U Brafst & 31 on3il @t elarg s 5 A, 3R
15 A §, dt 37 B & dRR oS & A s

g <Tgi gl -
1. 34F.A.
2. 3.6A.4.
3. 3.8A.FA.
4. 41A.AN.

The points A(7, 3), B(6, 1), C(8, 2) and D(9, 4) are the

vertices of a

1.

2.
3.
4.

Trapezium
Rhombus
Rectangle

Square

A(7, 3), B(6, 1), C(8, 2) 3R D(9, 4) g 515 ofief § -

1.

2
3.
4

AAAGHo
AHBIT AATATIR AT
agHeT



112. The point (4, —3) is in the quadrant

f9g 4, -3) gleaEeT UE B -

113.

114.

1.

2
3.
4

I
II
III
v

The difference of circumference and radius of a circle is

111 mts. then the diameter of a circle is in mts.

TP gd &I uRfd 3 Brean & &g &1 g 111 Fez 8
dl 3 T9 B AT g (FeRl H) -

1.

2
3.
4

10.5
21
42
84

The volume of the largest right circular cone that can be cut

out from a cube of edge 4.2 cm. is (cm’)

4.2 A3, oTaret g A ferbrer Aberaret aga oSl
g i &1 A (A H) F -

1.

2
3.
4

9.7

19.4
58.2
77.6



115.

116.

The author of the book “Data” is

1.

2
3.
4

Pythagoras
Euclid

Bhaskaracharya

Eudoxus

‘STeT’ T P TAFB 3 -

1.

2
3.
4

YA

BIGGES
HZBITER

TEIFAA

The highest objective in cognitive domain is

1.

2
3.
4

Evaluation
Characterisation
Synthesis

Naturalisation

SITeITcH® 815 BT AT T8 3 -

1.

2
3.
4

Hodiehel
gRs-Rkemor
ToetooT
TATHTA BT



117.

118.

“The project is a bit of real life that has been imparted into
school” — defined by

1.

2
3.
4

Parker
Stevenson
Kilpatrick
Ballard

“gfeNoTell BT Aded § UTeNell A 3R fobar orm
fero1 Shiaet &1 U AT 17 - Ag uRRHTST Selh! B -

1.

2
3.
4

This provides the lowest amount of learning as per Edgar

Dale’s Cone of Experience

1.

2
3.
4

Field Trips
Visual Symbols
Verbal Symbols

Direct Purposeful Experience

‘TR Sc FHA DI 4P’ P AR 37T 3T

Pl USTel BTl & -

1. 3 udea

2. g9 Fdbd

3. enfag® dAbd

4. TS I5AYUT g



119. Following aspect is a constraint for enhancing Mathematical
Talent
1. Good memory
2 Mathematical Aptitude
3. Unpleasant Home Environment
4

Teacher’s encouragement

T A TNoTAT B Tt A ATEN I BIAdTelT 3790
3 -

1. 378 Fid

ofvTa A AgoT AT

gfdpe g aTaraRor

31EATUDH BT McATGeT

ol



120.

The Academic Standard to be tested through the following
test item

“The monthly salary of Sudhakar is Rs.12,500/-. He spent
Rs.9,300/- for his household expenditure. Find the remaining

amount.”

1. Connection

2 Communication

3. Representation — Visualisation
4 Reasoning — Proof

“FUTHR B TP AGIA BT dael 12,500 3U 3 | 30R
3 I1g Adeht sRal & T 9,300 U = B, at
fhaet U T3 27’ - A U9 & gRT A AReH
HUES BT UdT cIoTell dTgd o -

2.
3. WiEfeItded - goiidor
4 PBIRUT IdTET - ANMTd Bl



121.

122.

Area of irregular shaped objects like leaf can be measured
with

1. Scale
2. Tape
3 Graph Paper

4. Measuring Cylinder

T S PpeRiEa Rg3it & AFwa Aua & v ag
33U B -

1. Tpd

2. U

3. % UuR

4. #AUe Fafeose

The change that takes place in a dry cell of torch

1. Chemical energy is converted into electrical energy
2 Electrical energy is converted into chemical energy
3. Chemical energy is converted into mechanical energy
4 Mechanical energy is converted into chemical energy

el eise & 318 A A Floldren uf¥ade I8 & -

1. YA ot fagla o1fts & w»u A Jgerar 3 |
2. faga ofe Tamfemeafs & 3u & aeadr g |
3. AR 20fth Jitip 2fh & U & acadr 3 |
4. it 21fte TaRIfers oafth & U A geaar 3 |



123.

124.

Pitch of the sound depends on
1. Frequency

2. Intensity

3. Amplitude

4. Density

eqfer Y Fa1s 39 wR el &R 2 -

3mgia (dier:gex)
digar

ORtetegs (3mama)
ereTed

[S—

ol

The law which states that “when mass is constant,
acceleration of body increases with increase in resultant

force ”

1. Newton’s first law of motion

2. Newton’s second law of motion
3. Newton’s third law of motion
4. Law of conservation of energy

ol gerRelt RerR giar 3 ag uiRunis 21t gedt
gl § al @Rur ot dadl I/l 3 | TG Bie-AT o=

. ggel Pl ugal i foraa
2. g Bl gl fa ferad
3. gge &1 drRl dfd ford
4. FHoll ALI0T BT ferra



125.

126.

Unit of work in M.K.S. system is

1. Erg

2. Joule

3. Newton
4. Dyne

TH.&.0H. UTTell A B’ &1 9 (Jfere) 3 -

1. wdt
2. Siled
3. Red
4. B4

The heat energy required to change 2 gms. of water to water
vapour at constant temperature is (in calories)

ReR agA & 2 I F Ul Bl STAaT™T IeTd &b
foe 3maes orelf 3 (et H) -

l. 80
2. 540
3. 1080
4 160



127.

128.

The acid present in cold drinks is

1. Acetic acid

2. Carbonic acid

3. Sulphuric acid

4, Citric acid

Pics fSbl A giaaren 319 3 -
1. oaes e

2. ®HIdfferd 319

3.  ACHR® 39

4.  Taca sea

The metals that exist in their free state are

1. Copper and Iron

2. Silver and Aluminium

3. Gold and Iron

4. Silver and Gold

zaast Rafa & fheeare ergu 3 3 -
1.  diar 3R eAgr

2. did) 3R rcyfHRA

3. e 3R g

4. @Y 3R e



129. When surface area of a liquid increases, the rate of
evaporation

l. Increases

2 Decreases

3. Doesn’t change
4

Becomes half

&d USRIl Bl del-2151hel dadT & ol aTSiehRl Bl &
oA FlaT 3 -

4
§

130. Identify the chemical change among the following
1. Evaporation of spirit
2 Rusting of Iron
3. Sublimation of iodine
4

Melting of wax
form A Tfers uRader & uganferT -
1. RaRe &1 gqeiisor
2. ©lg &I ST e9rel
3. 3RNEE &l 3criihRol
4 FIH BT AT



131. The best fire extinguisher is
1. Water
Green leaves

2.
3. Carbondioxide
4.

Sand
3191 Il & foTu 918 3T 3 -
1. el
2. WUl
3.  BIdISIS3FATSS
4. @

132. The fibre used in making swim suits and parachutes is

1. Cotton
2. Wool
3. Rayon
4. Nylon
Rafeor Je 3R Wit @t TRt # FFAATA HeAdarel
eT B -
1. 3d
el

B W



133. Fishes lay eggs in this part of the pond
1. Pond surface
2 Above the pond surface
3. Pond margin
4 Bottom of the pond

AT & SH o1g, Asfedr 32 i B -

1. o & dd A

2. di™E & dd A 3Ha
3. diea & R

4.  dred & &R

134. Total number of calf bones and bones of lower arm in a
human are

ATera & fisel gzl 3 g & gig @t pa
JF F -

1. 4

2 2
3. 6
4 8



135.

136.

‘Haustoria’ are

1. Special roots developed by parasitic plants
2. Modified leaves of insectivorous plants

3. A kind of sea weeds

4. Umbrella shaped plants

. ORI ofa digh A B faehaa SrE |
2. HIARR el # wHuiaia |

3. UP TR Bl AHal g% |

4. Bad & 3B & aid |

Number of parts that the Stamen and the Pistil in Datura
flower has

1.

2
3.
4

Stamen - 3, Pistil - 4
Stamen - 4, Pistil - 2
Stamen - 2, Pistil - 3
Stamen - 5, Pistil - 1

g3 & BT A g HIR 3R MR (Rea) &
3iG2 & HON B FJAT

1.

2
3.
4

PAT-3, JHbHAZT-4
BAT-4, JHBAT-2
PAT-2, HBAZ-3
PAR-5, JMHBA=-1



137. Dr. Jonas Salk and Dr. Albert Sabin worked on this disease

1. Tuberculosis
2 Polio

3. Plague

4 Smallpox

1. Sl AP 3R 1. 3iTctae AI S A AR
U3 H1H B o -

1. e

2. aifer=n
3. @or

4 IIb

138. The excess of Carbon monoxide in the air leads

1. to formation of Carboxyhemoglobin in humans
2 to blacken lead paintings

3. to reduce transpiration in plants

4 to acid rain

g1 & 31t AT A PIda AlTwRIs F gl A v

o -

. HAeE A AP Baied d9R gid 3 |

2. FeA () A TR 52 o avf fw B
gl o g |

3. Ol A arsdicAsiel Ud S¥ACe B FT |

4. 3791 &I auf g |



139. The kingdom that was not proposed in Copeland’s
classification of life forms is

1. Monera
2 Plante

3. Fungi

4 Animalia

PIUcIs b Sifdes goifepor A g I dfduited =gl 8

1 AferT

2. e

3. ol [ %I
4 3nferAfer=n

140. Choose the correct pair

1. Skeletal muscle - Non striated muscles

2 Smooth muscles - Non striated muscles

3. Cardiac muscles - Voluntary muscles

4. Voluntary muscles - Non striated muscles

A SISt ugATerT -

I oferii @ skmdsh - SR avER (sRfE)
A o

2. g | e AEIRRT - Sk aer (snfa)
A o

3. o uRdmET - uhoe aR¥mET

4 Ofos IRRT - 3 aRER (3RfEE)

FArAaf T



141.

142.

‘Ducklings will follow the first moving object they meet after

hatching’. This type of behaviour is called

1.

2
3.
4

Instinct
Imprinting
Conditioning

Imitation

aaE & I 37 A AT 3T g P 9t FeTam g3
dieT g uTof el R 3AG B &l Il o d 8 | 33

IR P VA Bad o -

1.

2
3.
4

Aget St

hel BIg
feraera
31S[HR0T

Heart receives blood from

1.

2
3.
4

Superior and inferior vena cava and pulmonary vein
Aorta and pulmonary vein
Pulmonary vein and pulmonary artery

Pulmonary artery and aorta

&a1 | zeT 3o g Pl FNBR HaT 3 -

1.

2
3.
4

Hed 3R 31E AZMRIT, B2 B oA
HEIEAC, BhS B IA

%S Bl 9, e &I el

S B e, HAGT el



143.

144.

The tissue of chorion and the adjacent part of the uterine

tissue make up

1.

2
3.
4

Umbilical cord
Placenta
Allantois

Amnion

WY & Hdd, IAA AS gU A & Has A

fHcTepR 33 ®T 3MAIGIe Bd § -
1. onafermer | emidRg

2. ORIg &

3. 31UR "ifter (VgertRa)
4, oUTERol

The hormone that suppress hunger when you feel your

stomach is full

1.
2.
3.
4.

Ghrelin
Leptin
Adrenalin

Somatotrophin

AR U R & alg ofF Pl fHearen gl § -

ol

Mferer
ciftea

Uselterel



145. Internationalization of and commitment to certain ideals and
values takes place in the child in the following objective of
Affective domain is

1. Receiving
2. Valuing
3. Responding

4. Organization

Rremeft A 3cu=r 3mgef 3tk Few 3tialR® glwe 3=
3treell @ FeA TR ufdag glem $A HEWEA S &
oedl A glar 3 -
1. WOl Bl
2. PIAA 3iicpell
3. wfdafsean feamen
4

g qATe]



146. One of the following belongs to the 10 core elements of
curriculum construction

1. Social discrimination

2 Nationalism

3. Removal of superstitions
4 Equality of sex

oot A A v, uremmA (FRagere) ferafor & 10
HAlferp 3N A Hafera 3 -

1. JreitSTe faerar I Agama

2. AR

3. 3iefIurAl B geren

4. o1 JATAAT

147. The best method to teach ‘Periodic table of elements’ is
1. Laboratory Method
2 Heuristic Method
3. Lecture Method
4 Project Method

‘T[Tl B 3MTad ARV yeT & foru srgaA [ty 3 -

1. S=noremer fatér
3r=ayor fafer

2
3. oot fafér
4. wreiae ot



148.

149.

The common size of letters on the chart used by the teachers
in the classroom should be (in cms)

1. lto3
2 2to 4
3. 3to4
4 5to 10

31eATTh &b BRIT-PaT A STAHAIA Badid e A

giearel 312131 BT URATUT HATEROT: ST el AT
(A H)

1. 133
2. 234
3. 33A4
4 5310

Quotations are not required to purchase the materials that are
to be entered in the following register

1. Consumable stock register

2 Temporary stock register

3. Non breakable stock register
4

Breakable stock register

3 MR A ol BT I3 B IRea & faw
HIewed (Quotations) I TALIBAT gl o -

1.  3Udisd ik AUores
2. 3R Wik IoreR
3. @ld dbgd Fidb IAoe
4.  dogd FKiP T



150. Preparation of question paper with these types of questions is
easy

1. Essay type of questions
2. Classification questions
3. Short answer questions
4.

Multiple choice questions
el UPBIR &b U2l A T2e-UsT dAR Bl 3TAT g -

1. fordencAs g9a

2 ToffBIoT u9e

3. oY 3TRIHAS 99
4



